Graph Lines
Method 2: Use the Slope and the y-Intercept YA
ed
2 .
Graph the liney = —x — 5. e EgEien < - //:
3 is in the form 0 2 4 8 X
2 rise 2 Yy = mx+b. L2 <2
The slope, m, is—. So, — =—. : TY=Ex-5
3 run 3 iRy il
. 0 . R _ iV Rise + 2
The y-intercept, b, is —5. So, a point on the line is (0, —5). e
Start on the y-axis at (0, —5). 7y
Then, use the slope to reach another point on the line.
Graph the line 3x + y — 2 = 0.
First rearrange the equation to write it in the form y = mx + b. ijun e
3x+y—2=0 2
y=—3x+2 P \ IRise - 3 N
rise -3 2 0ly2 4] X
The slope is —3, so —— =—— The y-intercept is 2. 5
w9 ] \8xty-2=0
Use these facts to graph the line. s
Method 3: Use Intercepts v \
Graph the line 3x — 4y = 12.
At the x-intercept, y = 0.
3x — 4(0) =12
3x =12 YA P
3x-4y=12
x =4 X=2yT leA
The x-intercept is 4. A point on the line is (4, 0). RN 2 4 | |x
/
At the y-intercept, x = 0. 2
3(0) — 4y = 12 )%
—4y =12 AT
y=-3 A Y
The y-intercept is —3. A point on the line is (0, —3).
- J
5. Graph each line. Use a table of values or the 7. Graph each line by finding the intercepts.
slope y-intercept method. a) x+y=3 b) 5x — 3y = 15
a) y=x+2 b) y=2x+3 ¢ 7x — 3y =21 d) 4x — 8y = 16
1 2
Qy=,x—5 d y= —gxt6 8. Graph each line. Choose a convenient
method.
6. Graph each line by first rewriting the Q) x—y-1=0 b) 2x — 5y = 20

equation in the form y = mx + b. 3
a) x—y+1=0 b) 2x +y —3=0 0 2x+3y+6=0  dy=7x-1

) x—y+7=0 d) 5x+2y+2=0
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